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(a)  Name the;
(1)  dela marked A
(i)  river marked B

(it)  crop grown on each of the plantations marked 1,2 and 3 \
(05 marks)

(b)  Howis oil palm harvested? (U5 marks)

; e  wrowing of oil palm in Nigeria.
(©) Deseribe the physical [actors that favoured the growing ol 011 Im o
(06 narKs)

ibuti "o s cowing o Nigerit (05 marks)
(d) (i)  Explain lhc contribution of oil palm growing 10 Nigeria. 1

E vi l |"' "\1”'.::[:.
i 1 grov ﬁ” an th.. L ronim iz
(“) lllnlE‘,’ IJiL Ci]’ch U U!l pdhl A vironmen U . k )

' ' ' s BT - between 1975-1990 and
3 Study table | below, showing copper production in @mbm between 1975 )
answer the qucstions that follow: _' 2t

1
Year Aumml plmlumou “OUU metric tons.

a T4 |
1 s
\1 1975 \ mo.f)_ 1
| o

| |

]

1980 Table |

|
Bt

19835

- _."_mai_.a_f__ e 1

L 1990 4450

Source: World rezources: A guige iz Griolal envirorment,

-
3

i
1
o1

ﬂ1* to show the irend of copper production in Zambia beiwten

(06 marks;

Dﬁ-

(b)  Give reasons for the trend in copner araduction in Zambia between 1973 'lm'l

1990, (04 marks)
(C:I ('[) } ‘(Ulﬂ'ﬂ ;ﬁ”. p(()l.\.t:r\n.. f s.r‘ann e r"\'u\‘ " lr\||1||] ! '.’!",L'Hl'\’ 11 Z ﬂ-\iJ;ﬂ

(05 murks)

(i)  Give ways in which the probiems in (<) (i) are being solved. (U5 marks]

(&)  Outline the con'rilutions of mining W e coenomy of Zambia, {05 marks)

:l-'ll I'n U\‘q; I

|
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4. Study figure 3 below showing North West Aft
questions that follow:

(5)

[}

nd and answer the

ican fishing &rov

Tig. 3

Name:

(i) Country marked S

(i) Ports marked 1,2 and 3

(i) Ocean curren marked A

(iv) River marked Q - (OGmarkS)

Descrihe the physica! foctore thar have favoured marine [ishing in Africa.
B _ (05 marks)

State Lhe factors thas have iimitzd cemmercial fishing in Africa, (07 marks)
What changes are heino madce o improve fishing in Africa? = (07 marks)

PART I STUDITS IN DEVELOPMENT
Answer (v Guiidions from in tais ;f;arr.
REEGION 1: NORTH AMERICA
Draw @ sketeh map o Britat Columbia and on 1t mark and name;
{3} Rivers: Stiltinm ana beogzer,
(i) Rabhwey Hncs Crnndinn National and Canadian Pacific railways.
i) Sawomitling centreer Kounat and Prince Rupert
(07 marks)

Desertbe the et st B e favoured the growth of forests in British

(05 maris)

PoETEL sy Sbe e S s T A e oy i ]
CHME rEasQNN Wiy Tiuhl Siw ez arg located at the coast? [L!} {nzz_r;:\'s,}
faxpiam e sieps Sting aken o umprove the forestry sector. (08 marks)

raminntions 7004 .
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Study Table 2 showing major indusiyi
! 1

| i AT T DT, i R e IR
mswer the questions that fQ\lO\\i 0 e Sl Nm_t.h America (2001) i

1(
ble: \l.n,m Industrial toy: 'S exports

_____ £ 1ports (Ul‘ﬂ) lt:l nes \
Los Angeles & 0100 '_\
1}.31 onto —— e e

oo | s

T TV T e
New york 20,900

E T T R
\_rﬂ}_ql_‘lf";l:__m__““lm__- T " \UUI __-1:1]

Total B -\7--—---—-——-‘- T -’}-3 \,[]ﬂ -"_|:

@) Draw apie chart to show the relative importunce of the inlormation given in the
table: i

(12 wmuks)

Name two types of indmtriég f_ound in New Yok industrial centre, (02 marks)
Describe the' t.ondmom. w'n'.ch h ave favow ed an. dev L]lODmL.m ol mduw es

North America, (04 marks)
(d) Outline the:

(i)  Denefis ol the nn‘mamwl sector 1o Nari Anetiea. (04 marks)

(i) Environmental pmbh,ms ‘which have rsulied (rom the establishment of
industries in Nmm mm. ica, ‘

(03marks)
5 i C .'._,..‘_-..-, _nl Ao o The
I (2)  Study fgure 4 sketch map. m‘ he Tensmesses Hivd calley and answis the
questions that foilow: 5 :
__———————-—-‘-'”—-——-\ Fig. 4
\\ Jdr-_—//r H
e A
\@_/‘x_:s ; T \ Key
o Ty e S e
g .. e
DS S L y "‘;—':‘-(___ i \ f fee] .. L ki
7 ARty TR | H—|
i T Ly
wiiginatacine® t < } HANES
\f\ / ¥ 1 1. ; [ RISITIR
~—— | U l| 1_ __%
\ ' \ | A1 | Rivers
S SERSNNRPSRRS g b e
Name f,
Y@ () States: A,Band C
(i)  Towns: land 2
: s ) & h ) 4 =
(i) - Ravers: 3and 4 - (U7 marks)
(b)  Deseribe the conditions which fecessnated tic eswblishment of th lt.lmcsstf
. K " = ) (R ERTIES A1) E
Valley Authorify project. (15 marks)
(€) Explain Uie steny tial were Laken 1 snive the PrOFHES b the Tennessee ared
s ' (05 marks)
Turn Over
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(W) () State the benefit

(1) Outling the problems thit were o1t atetl b

y ol the project 10 (e it

;nnpir; i e it (1) Ih:m"‘.)
g (e projeet (04 1akes)

REGION 11 RIINELANDS

8. Sty e 5 sketeh map of Switzerlind and sl (et

(i) Name the;
(1) Climatic regions AL 1,
(i) Neighbouring, counny

(i) Towns 2 and 3

(i) Deseribe RGP Bt
Rotterdam Port.

(h)  State the functions of [ Sy
(

i) Suppest the solutions i et

5 s RN i Ve

snf O

Deseribe the charagierierive ol the elimale of Switzerland,

Eaplain the Tactors thai im b wee thaodim

(i) Define the teem hinteriand™

£
TR i

¢)  bxphain the problems facis Rantemiany por

Acrinatinay 25

g agrestione it fulluwr,

[, Constinte Iigh, ¢

l(:ry
W.fulr'r bodiey

0 | [Lvers

(iv)  Dominant ceanuiv uctivity i region 4

(07 marks)
(05 mearks)

ate of Switzerland, (08 marlk:)

() State the influcnce of Clnnte o serieultural ackvitics in Switzerland.

(05 marks)
(02 marics)

waoured the location and growth of
(G0 s

(05 marky)
(06 marks)

Rt}llu dam pork (09 mnrks)

6
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i at foll
17 Sy figure 7 map of China and answer the guestions that fo

Fig. 7

Key
£ Water bodies
~ Wivers

o Ponany

I o
|
I f) M the

(i Towns; | 2 and 3

(1) Water hodys D.
(i1} Rivers A el L2,

(07 marlks)

() [eseribe the siepy taken by Chinpie develon the Yangtse Kiang River besin.
(06 marks)

River biasin to the people living in the

|:I-:| | :-l]l||l|||.|E|:|LlL-r‘-.|ih |.|\. lll!‘..l.-"l-r .\a-lb
(06 marks)

siirronneding evas,
' 1 i ot i B e PR I TaT R b Wi s Bvrii
by FiiEbe e T :?l"-'l'l'lll..””-‘l‘ TEGE Posiiaded st unadd {!,I“'I.'L.Ui'llﬂl._,..-{ 1.}! [RATH Y:'.Hl;lb‘.- -\..u[lg

- ' (06 marks)

aweer pasi,

e climate of Manghriaand answer the questions that follaw;

Suredy rhle 3 !-;hi.!'-‘-"l‘l‘L
RERE: fmiatmi 1 Taa If"?“l’ IR
' '.'r | | 1001 107 7T 5671294294 25,0 | 19.6 | 10773
e *;.],, r |ﬂh' i

-t1||~ A ALl S ) |

|~.n[~i £ J|f1

224 110 ;ﬂf_' |

_I.'b.l
S
::n
‘-.'_'.i
-1

x-kl:il'lu'l'lj !

. , ; Tahle 3
tir} Crleniaie the;

{1) itaintitl Lotals,

(i) Meon agnunl lepepemtiee

(EE Anpual emperRiin feies (03 marks)
thi Diemue o osuilabic e o renresenl ey anvate ol dMamichuria. (U9 macie)
() Deseribe the chimatic chprperensues ol el (05 marks)
Wy W st e TedTuenee ol ciinate wn Dunin agtivitivs carried putal the

{04 marks)
an we (nging nonnle Hying atthe staion, (04 marks)
(DR
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INSTRUCTIONS TO CANDIDATES:

.An.:.'wx*r Sfour questions only.
- Choose two questions from part I and twe from part 11,
- In part I only one guestion should be chosen from any ene region,

- Any additional question(s) answered will not be marked.
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PARTI : THE REST OF AFRICA

Answer two questions only from this part.
& and label

(a) Drawa sketch map of Afyica and on it mar
(i)  Natural ve getation types:

- Rain forests

- High Veld )

- Savannah

- Mediterranean
(i)  High lands: .

(07 marks)

Ethiopian and Drakensburg. )

(b)  Describe the characteristics of either Rainforests of Mediterranean vegetatio
(06 marks)

n type you

the growth of the vegetatio
oo (06 marks)

(c)  Explainthe conditions which have led
have described in (b) above.

(d)  Outline the benefits of the natural vegetation type chosen in (b) above.

(06 marks)

Study figure 1, Map of Egypt showing the location of the Aswan Dam pmject_and

EGYPT
Red sea

KEY

—~ Rivers

@ Water bodies
@ Towns/ports

AL canal

Fig. 1

H ~ Name the;

(i) towns/ports marked 1 and 2

(i) country marked 3
(iii) water bodies marked A, Band C

(iv) canal marked 4 (07 marks)

(b) Dc;scribc the p.hysical factors which favoured the establishment of the Aswan
High dam project in Egypt. (04 marks)

i WAKISSHA Joint Mock Examinations 2017 2
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(¢)  Explainthe contribution of the Aswan High dam project to the development of

Egypt. (06 marks)
()  Outling;
(i) problems created by the project (04 marks)
(if)  steps being taken by Egypt to solve the problems in (d) (i) above
(04 marks) ——

Study table 1, showing sugar exports from S. Africa (1998 - 2003) in metric tonnes.

Year Exports “000” <=
1993 1,230 -
1999 1,140 -
2000 1,470
2001 : 1,540
2002 1,170 |
2003 1,000 e

Source: African development indicalors:

Table 1 =

1998 — 2003

(@ (1) Calculate the percentage change in sugar exports between
(02 marks)

(i) Drawa line graph to show the trend of sugar exports. (07 marks)

(04 marks)

(b)y (@) Describe the trend of sugar exports between 1998 —2003.
(04 marks)

(i)  Explain the causes of the trend in b(i) above.

(¢) (i)  State three uses of sugar. (03 marks)

(i)  What measures have been taken to improve sugar exports in
South Africa?

2, sketch map of Tema Port and answer the questions that follow:

(05 marks)

Study [igure

C

To Accra

f Railway line

=== | Water bodies

Roads

____________ __ 2 mllndustrics

Fig, 2
- Turn Over
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féi)

Mame:

(iy Water bodies 1 and 2

(iij Harbours 3 and 4 |
(iii) Industries A, B and C (08 marks)

(iv) Gulf marked D
= ) . ort.
(b)  Describe the physical factors that led to the development of Temp (05 marks)
(¢c) Explainth fT rt to Ghana (08 marks)
) “xplain the importances of Tema port 10 P 4 marks)
(d)  Outline the negative cffects of growth of ports on the environment. (0
PART II: STUDIES IN DEVELOPMENT
Answer two questions from in this part.
REGION 1: NORTH AMERICA:
| & (a)  Draw a map of the area covered by the Tennessee Valley Authority and on 1t
mark and name;
fi (i)  States: Alabama and Tennessee
| (i)  Rivers: Tennessee, Ohio and Mississippi
(i)  Towns: Poducah and Nashville
. (iv)  Appalachian mountains (09 marks)
'F - :
| (b)  Describe the conditions that led to the formation of Tennessee Valley Authority
' Project. (03 marks)
(c)  Explain the problems resulting from the establishment of the Tennessee Valley
- Project. (05 marks)
(d) -+ Outline the contribution of the Tennessee Valley Project to industrial
development in the region. (06 marks)
6 (a) (i)  Name any two states found in the;
- Old cotton
- New cotton belt (04 marks)
(i)  Explain the factors that led to the decline in cotton growing in the old
cotton belt. (05 marks)
(b)  Describe the factors that favoured cotton growing in the new cotton belt.
(06 marks)
(c)  State the benefits of cotton growing to the people of the South. (06 marks)
(d)  Outline the negative effects of cotton growing to the South. (04 marks)
| T Draw a sketch map of California and on it mark and name:
(@) (1) Towns: Sacramento and Fresno
(i) Mountains: Sierra Nevada and Coastal ranges
(i) Rivers: San Joaquim and Sacramento
(iv) Canal: Delta Mendota (08 marks)
(b) (i)  Outline the characteristics of market gardening. (03 marks)

© WAKISSHA Joint Muck Examinations 2017
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(c)
(d)

¢ ®)

in the central

ii i e ;
(i)  Describe the conditions that favoured market gardening
(05 marks)

valley,

Explain the benefits of market gardening to California. (05 marks)

Outline the problems arising from irrigation farming on the physical cn\(/(i)am l-nclntj
marks

REGION II: RHINELANDS

Draw a sketch map of Belgium on it mark and name;
(i)  North sea and Albert canal

(i)  Rivers; Meuse, Scheldt and Dendre

(iii) Towns; Brussels, Verviers and Zelzate

(iv)  Coal fields.

Describe the factors that have favou

(10 marks)

red coal mining in Belgium (06 marks)

(c)  Explain the benefits of mining to Belgium. (05 marks)
(d)  Outline the effects of mining on the physical environment in Belg-ium(-04 _—
9. Study table 2, showing energy production in Germany (2005) and answer the questions
that follow.
Energy production in percentages (2005)
=)
Types of energy %, of total energy
Coal 49.8
[ Gas 113
¢’ oil 17
Hydro power 3.2
Nuclear power 26.6
others 7.4
Table 2
(a) Drawa pic chart to show energy production in Germany. (12 marks)
(b)  Describe the factors which have favoured the development of the industrial
sector in Germany. (06 marks)
(c)  Outline the;

1ent of
(04 marks)

(03 marks)

(i)  environment problems which have resulted from the establishn
industries in Germany.

(i)  steps being taken to solve the problems in d (i) above.

@ IWAKISSHA Joint Mock Examinations 2017 3
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. low:
Basin and answer the questions that fol

e

River Ruhr

10.  Study figure 3, showing the Rhine

- — =| political boundary

/ River

== | Water body

tTe-” B < )"’\) Ca
& e
o7 : @ |Ports

Fig. 3

(a) Name the following;
(i)  Rivers marked; | and 2
(i)  Water body: 3
(iii) Country: A
(iv) Ports:BandC

(v) Canal:D (07 marks)

(b)  Describe the factors which contributed to the development of the Rhine

waterway. (06 marks)
(c)  Explain the problems faced by the Rhine water way. (06 marks)
(d)  Outline the solutions to the above problems in (c) above. (06 marks)

fike Baneilusifione 017 L
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REGION |
g : ON 11

CHINA

AL TN “;“\‘“\ N \\\‘\“ \

.\\“ . LB T} b1 AY \\1\'! 1 \ \ ) . .

YA M 1:\11\\\\ i \hh‘“““ by \ ang i I‘\'npl‘a‘,n ORI e

W)
. U'tiiie
Rice Vs Pradneting (et e
LY
s L1000
| \\ h\‘;‘ii ,

\‘;\\ '\\\1 1\\

Lhiiy)

102,000
. Natoey D0,000
| Vg R1,000
l (RIS /1,200
.\ Table
\\‘1 1:‘“ 4 i‘i‘\‘ ‘Rr-uph.m .\'h‘u\}'- the nfomation eontained i the bl (7 1k
\ ] SRenbe the Chavacteristiy OCeommumal tuming in China, (05 mimless)
W Wdentiny ey
) Al antages;
) l\i\\';ld\;ll'ﬂ\lq‘\t‘s:
‘ of Communal Trming in Ching. (08 morks)
W Outline the stepy being taken 1o improve faeming in Ching (U5 mutks)
&2 Sdy g 4, the map of'y

wmgtze River Basin and angwer (e questions that folloy:
———

;;‘ ;.-’ !_;” / / / / // S

Lnner Mongolin

[110] 7711

-
) -4

Canal
(©] Town

(@)  Name the;
(1) towns: 1,2 and 3.
(1)  canal: A.
(1i1)  water bodies; X and Y.
(iv)  feature; P, (07 marks)

Turn Over
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. Sk od
(b)  Explain the conditions that have favoured fishing activities il water bOCY

marked X, (06 marks)

(¢)  Outline the problems faced by the fishing industry in China. (05 marks)
(d) @) Suggest possible measures to overcome the problems mentioned

in (¢) above. (04 marks)

(i)  Identify three fish species caught in China. (03 marks)

13,  (a) Name any two

(1) Winter crops;
(i)  Summer crops;
grown in china.

(04 marks)
(b)  Describe the factors that have favoured agriculture in China. (08 marks)
(c)  Explain the problems limiting growth of crops in China. (08 marks)
(d)  What changes have been made to improve agriculture in China? (05 marks)

END
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WAKISSHA JOINT MOCK EXAMINATIONS
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GEOGRAPHY
Paper 2

2 hours 30 minutes

[NSTRUCTIONS TO CANDIDATES:

- Answer four questions only.

- Choose two questions from part I and two from part IL.
- InpartII only one question should be chosen from any one region.

- Any additional question(s) answered will not be marked.
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PART

Answer

ame:
' Alpien and on it mark and n

L@ Draw o sketeh map ol
() The Grel Rift Valley.
Atlns and Drakensberg

(i) Hiphlands:

(i) Rivers: Senepgal and Zambezi " _—
iv)  Chad Basin

N (07 marks)

() Deseribe how (he rift valley was formed.
‘o ar 6 marks)
ik ' ounding areas. © )

(©)  State the benefils of the rifl valley to the people in the surrounding
05 marks)

(@)  Outline the challenges faced by people living W

he fishing sector for selected

ithin the rift valley region.

2. Study table 1 showing number of people working in t
Aftican countries in “000"s and answer the questions that follow:

J——
Country Number of people employed
CHAD Tr
[VORY COAST 20
GABON 30
| NAMIBIA 30
SENEGEL 56
TOTAL 486

Adapted; World Resources institute - World Bank.

(a)  Draw a pie-chart to show the relative importance of fishing towards
employment in selected countries, (10 marks)

(b)  Describe the physical conditions that have favoured fishing in Gabon (05 marks)
(¢)  Explain the problems facing the {ishing sector in Aftica. (05 marks)

] \ § 1 31 . .
(d)  What steps are being taken to improve marine fishing in Africa? (05marks)

S WAKISSHA Joint A Toek Examinations 201 J
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answer the questions that follow,

Water bodies

Roads

Railway line

(a) Name:
(i) lagoons A and B

(i) Harbours C and D

(iii) Industries 1,2 and 3. (07 marks)
Describe the factors that favoured the location of Tema port. (05 marks)

(b)
(¢)

(d) Explain the problems facing Tema port.

Mention the importances of Tema port (o Ghana. (05 marks)

(08 marks)

Turn Over
3
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1. Study Fig. 2 sketch map of Liberia showing rubber growing

questions that follow.

areas and answer the

== Water bodies

Plantations

Rivers

Name:
(1)
(ii)
(iti)
(iv)
v)

Country 1
Water body C
Rivers A and B
Towns Jand S

Plantations 3 and 4

(08 marks)

(b) Describe the physical factors that have favoured rubber growing in Liberia. (06 marks)

(¢) Explain the physical effects of monoculture to the environment of Liberia. (06 marks)

(d) State the benefits of rubber growing to the economy of Liberia.

i WAKISSHA Soint Mock Evaminations 2015
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PART II: STUDIES INDEVELOPMENT
Answer two questions from in this part.

REGION 1: NORTH AMERICA:

Q‘_ trien yen L = » . . i
study table 11 sho *#ng population distribution for urban areas in selected cities
AT g e ) .

11.~Norin America and answer the questions that follow:

_ City Population in millions
LOS ANGELES 16,100
TORONTO 4.500
CHICAGO 9.000
NEW YORK 20,900
MONTREAL 3,500
VANCOUVER 1,800
TOTAL 55,800
{a) Draw a bar graph to show the information given iﬁ the table above. (08 marks)
(o) Caleulate the percentage of the urban population in the table for:
(i) US.A
(ii) Canada (04 marks)
(c) Describe the factors that have led to a large population in any one selected city.
(07 marks)
(d) Outline the environmental problems resulting from the growth of urban areas in
Morth America, (06 marks)
Turn Over
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Iy questions that follows
I map of New Pinpeland and answel (e questiont thii

6. Study Fig.3d Skete

A Highlands
1 Water bodics

Rivers

State boundarics

(a) Namc:
(i)  Water bodies A and I3
(iiy Highland
(iii) Rivers 2 and 3

(iv) Agricultural states Cand D (07marks)

(b) (i) Name any WO Crops grown in states named in (a) (iv) above, (02marks)
(i) Deseribe the factors that have favoured agriculture in the states

named above. (O6marks)

(¢) Mention the challenges facing farmers in New England, (05marks)

(d) What measures are being taken lo improve agriculture in New England? (05marks)

T (a) (i) Name any two states in USA known for space industry. (02marks)
(i) Deseribe the factors that have favoured the location of the
space industries in USA, (05marks)
(h) Explain the importance of the space industry 1o U.S.A (O8marks)
(c) What challenges face the space industry in U,S.A (05marks)
(d) Outline the measures being taken to improve the space industry. (05murks)
L 0 WAKISSHA Joist Mack Lsciisgtiony 201 5 6
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REGION II: RHINELANDS
() !?‘me a‘ sketch map of the Rubr industrial region and on it mark and name;
(1) Rivers: Ruhr and Lippe.
(if) Canals: Lippesite and Dortmund EMS.,
(iif) Towns: Duisburg and Dortmund,

(iv) The concealed and exposed coal fields, (09marks)
(b) Describe the factors that have favoured coal mining in the Ruhr region. (06marks)
(¢) What factors led to a decline in coal mining in the Rubr Region. (05marks)

(d) Outline the effects of coal mining on the environment in the Ruhr Region. (05marks)

9. () Draw a sketch map of Switzerland and on it mark and name the following;
(i) The three physical Regions

(ii) Rivers: Rhone and Ticino

(iii) One area where salt is mined, (07marks)
(b) Why has Switzerland had to develop an efficient railway network? (05marks)
(¢) Explain the problems [ acing the Swiss transport system. (08marks)
(d) Outline steps being taken to solve the problems in (¢) above. (D5marks)

10, Study the table 111 showing land reclamation in the Rhinelands and answer the
questions that follow;

Century Area of land km?
1400 - 1500 430
@ | !500-1600 715.
1600 - 1700 1150

1700 - 1800 60 |
1800 - 1900 1200
1900 - 2000 TH)
TOTAL ' 4845

(1) Caleulate the percentage change of land reclaimed between the period 1400 = 2000.
(02marks)

() Draw a line graph to shiow the trend of Jand reclamation in the Rhinelands. (08marks)

(¢) Describe the factors that led 1o Jand reclamation in the Rhinelands. {03marks)

(dy (i) Explain the benefits of land reclamation to the people in the Rhinelands. (0Bmarks}
(i) Name any lwo projects thit carried out fand reclamation in the Rhinelands

{(02marks)

Turn Over
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11. (a)

(b)

S T, . e S

REGION III - CHINA

Name any two;

(i) Winter

(if) Summer '
Crops grown in the Yunnan — Kweichow region of China.

Describe the factors that have favoured agriculture in the
Yunnan — Kweichow region of China.

(d) Explain the steps being taken to develop the Yunnan region.

(04marks)

(06marks)

| (c) What factors have limited cﬁmmercial farming in the Yunnan region? (05marks)

(10 marks)

12. Study table IV below showing the climatic statistics of station A in China and answer
the questions that follow.

Station A
Months J] [F IM|A |M |J |7 |A|S |O |N D
Temperature |-10{-17 (10 |15 |20 |30 |25 |20 (8 |[-2 |-8 [-I5
Rainfall 48 |48 |97 | 152 |165 |244 |180 |97 |71 |81 |48 |28
(a) Draw a combined bar and line graph to represent the information contained
in the table. (07marks)
(b) Calculate the;
(i) Mean Annual temperature
- (i) Annual range of temperature,
(iii) Total annual rain fall. (O6marks)
I3 (c) Describe the characteristics of the climate for station A. (06marks)
(d) Explain the influence of climate on human activities at station A. (Obmarks)
13.(a) Name three areas of;
¢ (i) Low population
(ii) High population
in China, (06marks)
(b) Deseribe the factors which influenced population distribution in the
areas named in either a (i) or a (ii) above. (05Smarks)
(c) Explain the problems faced by the people living in highly populated
areas of China, (08marks)
(d)  What steps are being taken to solve the problems in (¢) above? (06marks)
END
© WAKISSHA Joint Mock Examinations 2015 g
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ARRWRE Y TV o uestions

-

'ad

Study table 1below and

v A
PART L - T{IE REST OF AFRIC/
from this part.

t follow:

0
QTATION A - ALT. 100metres Lat. 2°N

P A

answer the questions tha

e e ——
o
F

M A

[ Months ] RET

. ____.._._——-—--————1—-——'-"__-'_—'-_-—_ 28 &
TeplO) |30 | 31 | 31|31 (302 _28 et e
o - - 115721 95 | 25 2
! Raintall () | 230 | 250 325 | 300 _fi?! ;5_J

)
b)
\‘)
d)

a)

b)

ve climatic statistics. (09marks)
ation A.(04marks)

rried

Draw a suitable graph to represent the abo
Deseribe the characteristics of the climatic statistics for st
Explain the influence of climate on the economic activities that arc ¢a
out at station A, (08marks)

Outline the problems facing people living in-the surrounding area.(04marks)

(i) What do you understand by the term Sahel? (02marks)
(i1) State the characteristics of Sahel region of Africa. (QSmarks)
Explain the importance of the Sahel to the people who live in that region.

| (07marks)
Outline the problems faced in the utilization of the Sahel region. (06marks)-

State the measures being taken to solve the problems in Sahel region of

Africa. (05marks)

Study table 2 below showing population size for selected African countries and

answer the questions that follow:

Country Land area Population size
(000’s Km?) (“000s)
Algeria 2,382 30,800
Central Africa Republic 023 3,800
Egypt 995 65,200
Sudan 2,376 31,700
Morocco 446 23,200
Ethiopia 1,000 35,800

Adapted from: 2003 African Development Indicators: World bank Pgs

© WAKISSHA Joint Mock Examinations 2013 2
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F o) Calculate the ; '
ate the population density for each of the selected countries.

B Brlati Mhess ‘ - (0bmarks)
) Explain the causes of the variations in population size in any one country.

(08marks)
¢) Describe the problems resulting from high population in an area. (06marks)

d) Outline the benefits of high population in an arca. (05marks)

4, Study table 3 below showing forest products exports in 1996 and answer the

questions that follow;

\ Country | Exports M°

\ Swaziland 270,000
| DRC 91,000
!\ Liberia 225,000
\Nigeria 248,000

a) Draw a bar graph to show the relative forests products exports. (06marks)

b) (i) Name any two forests found in Swaziland (02marks)

(i) Describe the physical conditions that have favoured development of

forestry industry in Swaziland. : (08marks)
¢) State the contribution of the forestry industry to Swaziland. (04marks)
d) Outline the problems facing the forestry industry. (05marks)

Draw a sketch map of Africa and on it mark and name the following;

n

a) (i) Highlands: Atlas mountains
Ethiopian highlands
Cape ranges
Drankensburg mountains
(i)  Rivers: Blue Nile and R. Congo
(i) Red Sea ' (07marks)
b) Describe the process which led to the formation of Cape ranges. (06inarks)
¢) Explain the importance of the highland areas of Africa. (0O6marks)
d) Outline the problems facing the people living in the highland areas of
Afltica, (O6marks)

- Turn Over
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and answer the questions

T

6.  Study fig. 1 showing the Trans - African High way

that follow:

ETHIOPIA

- Em

L e e o am w w  m=

e v e e e = wm

Fig. 1
KEY
(-] Water bodies Towns
a) Name:

(i)  Water bodies; marked X and Y.

(ii) Towns marked 1, 2 and 3.

(iii) Countries marked M and N. (07marks)

b) State the aims for the construction of the Trans-African Highway(05marks)
¢) Explain the benefits of the Trans-African Highway to the areas

where it passes. - (08marks)
o the area it serves.

d) Outline the challenges of the Trans-African Highway t
(05marks)

@ WAKISSHA Joint Mock Examinations 2013
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PART I
STUDIES IN DEVELOPMENT
Answer two questions from this part

REGION I-NORTH AMERICA
a) Draw a sketch map of the St. Lawrence seaway and the Great Iakes and on

it, mark and name:
(i)  Lakes: Erie and Ontario.
(i) Canals: Sault Saint Marie and Welland.

(iii)  Industrial centres: Chicago and Buffalo.

(07marks)
b) (i)  Name any two industries found in any one industrial center named in
(a) (iii) above. (02marks)

(i)  Explain the factors that led to the growth of industrial center you
have chosen in b(i) above.
(08marks)

¢) Outline the problems faced by the industria! sector in the Great lakes
region. (04marks)
d) State the benefits of the Industrial sector to the Great lakes region.

(04marks)
8. Study Fig. 2 Map of British Columbiza and answer the questions that follow.

® | Towns

~1Water body

Turn Over
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a) Name: 1
(i)  Rivers marked R and 5.

(i) Ocean currents marked A and B.

(i) Islands marked I<.

i) Ports marked 1 and 2,

(iv) Ports marked | el

= i . . e f At ‘fie M.
b) Explain (he physical conditions favouring fishing in British Columbid
- ({JGHmchs)

¢) Mention any (wo;
i) Types of fish caught in British Columbia.

i) Uses of fish, (04marks)
d) (i) State the problems facing the fishing indusry in British Columbia
(04marks)
(i) Qutline the steps being taken to solve the problems in d(i) above
(04marks)
4, Study Fig. 3 below showing map of the south and answer the questions that
follow:
KEY
r-ﬂ_ Towns
o _::;::: Water body
P =1 A Rivers

1) Name; i) Minerals mined at A,B and C
ii) Water bodies X and Y
iii) Towns | and 2 (07marks)
b) Describe the factors that have lavoured the exploitation of minerals in the

south. (O6marks)

¢) Explain the effects of the mining sector on the physical environment of the

south, (06marks)
d) Outline the benelits from the mining sector to the south. (06marks)
5 WAKISSHA Joint Mach Examinations 2013 &
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REGION 11 - RHINE LANDS

10 Study table 4: Showing in-bound tourists (‘000s) for the Rhine lands and East

Africa and answer (he questions that follow:

| Region | Country In-bound tourists
AN Belgium - T 6,452
Rhine lands L YT
Switzerland 9,500
: - I(cn}a - F &41
liast Africa — — o
Tanzania 501
Total e S 18,494

/1ﬂ'ﬂp@fﬁf»ﬂEi?_ﬂ.?"I*i};}}ﬁmmje.’ﬂ,uum;ﬁ" indicators: The World Banl:
a) Draw a pie-chart to represent the information given in the table  (08marks)
h) Identify the country with the:
(i) Largest
(it) smallest
number of in-bound tourists, (02marks)
¢) Deseribe the factors which have led to more tourists visiting the country

identified in b(i) above, (07marks)

d) (i) Mention any three tourists attractions found only in Rhine lands and not
in East Africa,

(03marks)
(i) State the reasons why Bast Africa receives less tourists than Rhine lands.
(D5marks)
. Study table 5 below showing commoditics which passed through Rotterdam
port in 1973and answer the questions that follow:
; Commodity Tonnage in metric tones Percentage B
![Minur::l oils | | 69,5
I . 0.4
| Cereals ) 1T i 2.4
Codl T ) ’ i
e - 1.9
Vertilizers % S i ine
= 3. 1.8
Other ponds T = T
= = 46 S
. N = 15.0
rl'-"ta N T P
___]_..._._ 309.5 100
O WAF IS HA Soint Moel: Laenminations 2043 L rﬁ? kst
e
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n) Calenlute the tonnage ol
(i) Mineral oils
ii (e
:}} Coal ((3marks)
i AH

i j sreenliape ape of cargo handled b
by Draw a line graph showing, the pereentage lonnape ol cargo Y

Rotlerdam., (O8marks)
¢) (i) Name any two countrics whose imports are handled by Rotterdam port.
(O2murks)
(ii) Explain the factors which led to the growth of Rofterdam port as the
world’s busicst port. (08marks)
d) What problems are facing Rolterdam as an international port, — (04marks)

Study fig. 4 showing map of the Rhine lands and answer the questions that Tollow:

Fig. 4

KEY
Fs
”AMajorinigated arcas
]

Towns

______

L=~ Water bodies

~ Rivers

8 WARLESIA Jult Mock: Lraininations 2013 B
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3 W ime e Tt X

Q) Wate o0y marked A
1 Towns1and2

(1) Canal masked B

(v} Irigated lands C and D
(Comarks)

(0<4marks)

0) Explain the factors which have favoured irrigation farming in the Rhine
(03marks)

lands,
¢} What problers face irrigation farming in the Rhine lands.

d) State the steps being taken to improve irrigation farming in the Rhine lands.
(O4marks)

REGION III - CHINA

a) Draw a sketch map of China and on it mark and name:

15.
1) Towns: Hongkong. Shangai and Beijing
11} The Yellow sea
Rivers: SiKiang and Yangtse. (07marks)
{03marks)

1}
b} What problems face people living in the river vallevs in China
¢) Outline the steps being taken to solve the problems in (b) above? (03marks)

d) Explain the contributions of the river basins to the development of China.
(08muarks)

Tm'uqﬂver
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ool Betiing (Peking) and answer the questions
CL Nty Vi, 3 ahowing (e lovation ol Beting g
1 L} A hid W

thad ko <

3 S —

B

i Tl R Mo T T

Hghteed @ =0 2@ 00000 esveseae

ﬂt:] Town

Pig, 3 |.~_~ |Rivers

(@) Name the: () Water body madked A
(i) Rivers Band C
(D) Mighland aren marked 1
(V) Lowland aren marked 2 (O5marks)
(1) Deseribe the factors which have fivouced the loeation of Beijing City
(O7marks)
() OQutline the tunetions of Beijing City (O6marks)

(W Explain the problems being theed by the people living in Beijing City

(OTmarks)
15, ) Deaw aomap of the Sikinng viver valley and on it mack and name;
1) Rivers: Sikiang and Hongshuod He,
i) Islond: Hadnon
i) Gullof Tong King
) Towns: Hongkong and Guingzhou
V) Leizhou Peninsula (OBmarks)
AR ISSHA Joint Mock Examdations 2018 10
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B) Describe the factors favouring indusirial development in the Sikiang river
valley region, - :

(07marks)
) Outline the

; problems ereated by industeialisation in Sikinng river valley
region,

(05marks)
€1 State the measures being taken to solve the problems outlined in () above.

(05marks)

END

11
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PART 1 THE REST OF AFRICA

Answer any two auestions from this part.

|.a) Drawamap of Africaand on it mark and namet
(i) Highlands: Cape ranges and Ethiopian
(i) Rivers: Orange and Niger
(iii) Basins: K alahari and Chad

b) Describe how any one of the highlands marked in a(i) ab

c) Explain the im g areas.

d) Outline the pro ing aroun

blems faced by the people liv

_Draw a sketch map of Affica and on it mark and name:
(i) Ocean currents: Warm Guinea and Cold Benguela.
(ii) Winds: South East and Westeries.

(iii) Natural vegetation types: Mediterranean,

£

b) Describe the characteristics of equatorial type of vegetation.

¢) Explain the factors that have favoured the existen

| d) What are the effects of human activiti

| 3. Study Fig. 1: Map of Liberia and answer the questions that follow;

he following:=

ove was formed.

portance of highlands to the surroundin
d highland 2

dry savanna (Sahel) a

ce of Equatorial vegetat

es on the equatorial vegetation?

(i) Rivers marked A and B.
(i) Water body marled 1

(iii) Neighbouring states mar
(iv) Iron ore deposits marked C and D

ked 2 and 3

@ WA KISSHA Joint Mock Examinations 2004
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(07 marks)

(06 marks)
(06 marks)

reas. (06 marks)

nd Equatorial.

(8 marks)
(6 marks)

ion.
(6 marks)
(5 marks)

fig. 1

(7 marks)

=3



£

Describe the factors that have favoured mining of Iron in Liberia.

(6 marks)
¢) Explain the benefits of Tron ore mining to Liberia. (8 marks)
d)  What are the ctfects of iron ore mining on the environment? (4 marks)

4.2) What is urbanization? (02 marks)
b) i) Describe the factors that have led to the development of Lagos as a port.

(06 marks)

i) Outline the importance of Lagos town to the surrounding areas. (06 marks)

¢) Explain the problems facing Lagos town. (06 marks)

d) State the solutions to the problems facing Lagos town in (c) above. (05 marks)

3. Study table 1 below; showin
(1998 - 2003) and answer the questions that follow.,

Table I: Republic of South Africa: Sugar Exports (1998 — 2003)

Year Sugar exports (metric tonnes)
1998 1,230,000 '
1999 1,140,000
2000 1,470,000
2001 1,540,000
2002 1,170,000
Table I 2003 1,000,000

g sugar exports from the Republic of South Africa

Adapted: 2005 African Development indicators, the World Bank Washington D.C p99

a) Draw a line graph to represent the trend in su
“of South Africa between 1998 and 2003.

gar exports from the Republic

(8 marks)
b) Describe the trend in sugar exports shown in (a) above. (3 marks)
!} ¢) Explain the conditions that have caused the above trend in the Republic
by of South Africa. (8 marks)
d) Outline the benefits of sugar growing to the people of South Africa. (6 marks)
6.a) Draw a sketch map of Africa and on it mark and name;
(i)  Ocean currents: Benguela and Canary.
(i) Ports: Elizabeth and walvisbay,
(iii) Any two major marine fishing grounds.
(iv) Lakes: Chad and Kariba.
(09 marks)

b) Describe the conditions which have favoured the
in any one fishing ground named in (a) (iii) above.

¢) Explain the contribution of the fishin
country in Africa.

d) Outline the problems faced by the fishing industry in Africa.

© WAKISSHA Joint Mock Examinations 2014
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development of fishing industry

(06 marks)

g industry to the development of any one

(06 marks)
(04 marks)
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I

Fa) Name thes
‘I N E e
“'1 bpltw marked A, Band C
u Fowns maked 1 and 2
1.11‘1 River marked 3.
) Ocean marked 4

l\‘l ‘I,\i Sate 0 A i { i ? mﬂrks
N h*:' ¢ "1‘: o industries found in any one town named in (a) (ii) above 52 marks))
seribe the © Hians i l .
cseribe the conditions that have favoured the establishment of industries

i New Fogland
o ) (4 marks)
) B gix e i - ‘ ] 1
) l.ﬁxpl;‘ll.l.!hg contribution of the industrial sector 10 New England. (5 marks)
. ':‘1 :xuluw the pmb'ia.‘m:: arising from industrial growth in New England. (4 marks)
i) State the steps being taken to solve the problems in (d) (i) above. (3 marks)

a) Draw a sketch map of British Columbia and on it mark and label
(1) Towns: Prince George, Kamloops |
(i) Ports: Prinee Rupert, Vancouver
(i) Mountans: Coastal ranges, Rocky mountains
Canadian National Railway, Canadian Pacific Railway.

@v) Railway lines:

] . (9 marks)

b State the benetis of railway transport to British Columbia. (6 marks)
(6 marks)

facing railway transport . British Columbia.

taken to improve transport in B ritish Columbia.
(4 marks)

¢) Explain the problems

4) Outline the measures being
REGION 11 RIIINE LANDS

fap showing the Ruhr coal fields in Germany and answer the questions

10, Study fig i
that follow. /
1

Exposed coal fields

xx &% Concealed coal fields
v XX X

Fig. 1

WWater Canals

Towns

(a) Name the:
(1) Rivers
(it) Cana
(iit) Tow

(b) Describe the

marked Aand B
varked | and 2
Is marked 1 ant - el

ns marked T, Uand S |
; the Ruhr region: (07 marks)

swoured coal mining in
| Turn Over

factors that have f
5
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" \

Crepton (00 k)

() tixplain the vonditions for the dectine in vanl mining Iy s I'mhil lllthlu'.thr repion

} J A 1 Pt A Ay s “ “ l".‘ ] L
) Outline the effeets of conl wintng on (he physieal envivonme
\ Y ‘ l (05 manrks)

L ; : Sl Aditen and
L1 Study table UL showing inbond tourdsts for the Rhine [aoeds andd Hast Advien an
answer questions that tollow,

Inbound tonedsts (Q00) 2001 -
Region Country thound Tourist
Welpium h.-!ﬁ.’.
Rhine lands Netherland *:‘,:“r{l'{l
Switzetlond 10,700
- Ui 2035
Fable BT 13qg0 Atvien Kenyva 841
Taneania _ S01 -
a) Draw a bar graph to represent the information in the table, (8 murks)

B 1) Identify the countey with
= Least

= Most
number of inbound tourists, (2 marks)
i) Name any two tourist attractions found in the Swiss highlands, (2 murks)
¢) Deseribe the tactors that have led to more tourists visiting the
country in (b) (1) nbove, (5 marks)
d)  Lxplain the problems ficing the tourist seetor in the Rhine Londs. (8 murks)

[2. Study Fig. IV: Map of Netherlands and answer the questions that follow,
T S ¥

Fig, 1V’

f * L] L]
1 \.\ 4 LYE
6 , ® | lTowng

~et [ ED Waler

] Rivers

(1) Name:
(i) Towns marked A, B and ¢
(1) Rivers macked 1 and 2
(i) Country marked D
(iv) Sea macked ¥
(07 marks)
OV IAKISSHA doine Mock Examinations 2004 O
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Cb B pibie Wi st e by b figniped Bl peebspsatien b the e the pland
(s btk o)
G Fwpedinin beess Bl d g Lbnsol B e st b i 3 dethe plairds URTI Y|
Gy Eatbigp (e Imrhll W b il byt it qu iz g e ;;HM*.‘ . (s gtk o)

HEAON I A

by g et b e ol C Lo o g e spiestiens it fulle

/ \
(. l\

\ A

) \
/.//. n o i
VA | /

1LY

/(}'\ FImIIATIE

7N I A
Q | Iowm ;
() I hin

() Mrvers mstked T 2,

Fig I

Gy Lo o ke A 1
Gy ey dned ad € pnd 1)

(06 1arks)

(1) Dpencribie the factons Qi ave fnyoured g in Clin, (06 k)
) (o) Doeplain the contibution of i to the eeonamy of Chin, (OW k)
tly Stte e protdens fnced by e b seetor i hing, (05 k)

g Pl any G region i Cliim sehiere e cammmme systenr of farming, s practiced,
(07 nineke)

By Describie the chincteristicn of commne system ol Bodng procticed i China.
(O 1inhs)

e Foepenin the fnctors thid Binve Tvonred the establistoment of apocaltoral
commines hy one repton nwmed i G ahove, (6 ki)

Ay Onthine thie;
- Henelits ol commumne Taming, (G marhs)

i) rablems B conmmune fminge in Clhing, (5 marks)

= Turn Over
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3 ; stions that follow:
15. Study Fig. VI: Map of Sikiang river basin and answer the questions that

Fig. VI

'y

.....
............

- o =
= o = ]

T LM P PO PR P e
(NN AN MR
Pl e

r
"y

..................

(a) Name:
(i) Rivers marked A and B
(ii) Towns marked C and D
(iii) Island marked 1
(iv) Water body marked 2

(6 marks)
| (b) Explain the factors that have favoured the development of the Sikiang basin.
' , (8 marks)
(c) What are the benefits of the basin to the people of China? - (6 marks)
(d) Outline the problems facing people in the Sikiang basin. (5 marks)
END
|
|
2 WAKISSHA Joint Mock Examinations 2014 8
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SECTION A

PART I . THE REST CF AFRICA

Answer Iany two questions from this part

h map of Africa and on it mark and name:

Cancer and Capricon

* Ras Hafun and Agulhas

1. Draw a sketc
a) -i) Latitudes :

ji) Capes:
iii) Mountains: Atlas and Cape Ranges

iv) Depressions: Bodela and Qattara

v) Anytwo rivars with deltas

b) Define a delta.

¢) Describe the importance of a delta coast

d) Explain the problems faced by people living

2. Study figure I showing major vine growing are
the questions that follow:= '

to the people in Africa

around delta coasts i

¥,

(11marks )
( 02marks)

(07marks)

n Africa.
(05marks)

as in South Africa and answer

a) Name the;
i) Rivers markedR, S and T

ii) Towns marked 1, 2, and 3

iii) Plateau marked Y

© WAKISSHA Joint Mock Examinations 2012
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b) Gj
ve four
I meth -
ods of growing vines in South Africa - (4 marks)

¢) Descri
ribe th . )
- ¢ physical factors that favour vine growing in South Africa.

(7 marks)
d)
(-) State the challenges facing vine growing in South Africa. (5 marks)
(i)  Apart from South Africa, name two other African countries
(2 marks)

producing grapes on commercial basis.

3. Study fig. II map showing gold mining centres of the Rand and answer the

questions that follows.

C  CENTRALRAND '
To Maputo

E WEST RAND
; .*.:-," '

1 o 2

SiF L

"To Cape Town

a) Name the gold mining centres marked;
i) A,BandC '
i) States marked E and F

iii) Rivers marked 1 and 2 ) (7marks)
b) Explain the factors which have favoured the mining of gold in South Africa.
- (8 marks)
¢) Desecribe the method used in mining gold in the Republic of South Africa.
: : (4marks)
outh Africa.

d) Identify the problems facing the mining industry in the Republic of S
(6 marks)

Turn Over

-
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4. ational tourists for selected African

Study table | showing incoming intern ot :
countries in 2006 and answer the questions that follow;

Country Incoming Tourist_ﬂ’j}___
Zimbabwe 2,290
Nigeria - oo
Bgypt 8,650
Ethiopia 290
Namibia 833 B

Source: World Development indicators, World Bank, W. ashington D.C P ages 376 =78

a) Draw a bar graph to show the information given in the table. (08 marks)
b) Identify the country with the:
i) Least,
ii) Most,
~ number of incoming international tourists in 2006. (02 marks)

¢) Describe the factors which have influenced the &evelopment of tburism in
the country identified in (b) (ii) above. (05marks)

d) Outline the:

1) Benefits of tourism industry to the country named in (b) (ii) above.
' (05 marks)

ii) Problems faced by the tourism industry in the country named
in (b) (i) above. (05 marks)

s, Study Fig. III Map of the Democratic Republic of Congo provided below and
answer the questions that follow, '

l

“ifqﬂﬁ.ﬁﬂan-‘{ . . o
Ry, 3"‘;4“

© WAKISSHA Joint Mock Examinations 2012 4
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r a) Name the .

1) Port marked A
i) * Towns marked B, and C

lii)  Tributaries marked D and E (5 marks)
b : _
) i%flam the factors which have influenced the distribution of the
LWay network in the Democratic Republic of Congo. (10 marks)

c) Identif)f the problems facing the transport sector in the Democratic

Republic of Congo. (5 marks)
d) Outline the steps being taken to improve the transport sector in

Democratic Republic of Congo. (5 marks)

Study table 2 below showing forested area in selected countries of Aftica and
answer the questions that follow:

Country Forested area (kmz)
Democratic Republic of Congo (DRC) 1,336,000

Congo Brazaville 212,000
Liberia : 32,000

Angola 591,000

Gabon , 318,000 B

Source: World Development indicators, World Bank, Washington D.C page 142-144. 2008.

a) Draw a line graph to show the information given in the table above. (08marks)
b) Identify the country with;
iy Largest;
ii) Smallest;
forested area. (02marks)

¢) i) Name any two tree §pecies found in country identified in b(i) above.
(02marks)

ii) Describe the conditions which have led to the growth of forests
in the country identified in b(i) above. (07 marks)

d) Outline the problems faced by forestry industry in any one country given
in the table. (06 marks)

o
K

Y Ly Sree . -
© WAKISSHA Joint Mock Exomingtions 20i 2
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OrviEa
paRTIl  STUDIESIN DEVEL
se pnart.
Answer {wvo qucstions from this P
AMERICA

REGION I~ NORTH .
qy and on it mark an

: " aw
a) Draw a sketch map showing St. Lawrence Se
name:-

(i) River St. Lawrence . ; _
(ii) Ports: Kingstone, Cornwall and Ottawa (O07m arks)

(iii) Rapids: Long Sault and Lachine
I

b) What problems were created by the construction of the 0 Smarks)
St. Lawrence Seaway? :

(07 marks)
(06 marks). |

Study Fig. IV map of New England provided below and answer the questions that
follow. 3

c) Explain the problems which still face the St. Lawrence Seaway.

d) Outline the benefits of the St. Lawrence Seaway.

L. Champiai

NEW YORK
STATE

Bounda
Fishing rgorts

) Name the states A and B.
i) Townland?2

i) River marked 4

iii) Ocean marked 3
iv) Ports Eand F

© WAKISSHA Joint Mock Examinations 2012 6
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b) 1) State three industries found in any onc port/city named in (a)( iv)above.
(3 marks)

c) Explain the conditions that have favoured the establishment of industries in
(6 marks)

New England.
sin

led to the decline in traditional industric
(4 marks)

d i) Outline the conditions that
New England.
i) Describe the steps taken by New England to sustain the industrial sector.
. (4 marks)

£ Study figure V showing the Canadian Prairies and wheat export routes and

answer the questions that follow:

\o

11
t|l|||l!ilt|llllll ]

_=-— \Water bodies

-

5 Wheat export

a) Name:-
i)  Strait: A
ii) Ports: B, C and D
iii)  Water bodies' E and I (06 marks)
b) 1) What are the disadvantages of using wheat export route marked (3) |
(04marks)
i1) Name any three countries importing wheat {from Canada. (03 marks)

Turn Over
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¢) Describe the problems faced by commercia

d) Outline the steps being taken to improv

. - nada -
| wheat growers 11 Ca (06marks)

ks)
¢ agriculture in Canada. (D6marks)

'REGION [ - THE RHINELANDS

: iy populated.
10. a) State the reasons why the highlands of Switzerland are sparsely pop (4 marks)
) g 3marks)
i)  Identify any three glacial features in the Swiss highlands. (
(3 marks)

ii) Describe the formation of any one feature in (b) (i) above

i)  State any three ecconomic activities taking place in the Swiss highlands.

(3 marks)
ii)  Explain the problems facing economic activities in the i
Swiss highlands. (5 marks)
d)  What steps have been taken to solve the problems in (c) (i1) above.
(5 marks)

1. Study Fig VI Map of Netherlands

that follow,

provided below and answer the questions

il T T
—_-— e = = = . =
- e o e e o
f = = e - e o o
et T T,
= e = o oo

_______

| = e

- e

e B T~

i i R
F o e o o o oma

_________
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a) 1) Name the land use types marked 1,23, and 4
i) Minerals mined at A and B

i) To F (8 marks)
ii1) Towns E and
. Il ' i ing in Netherlands
b i) Describe the factors favouring dairy farming in Nethe -
Name Wo 2 marks)
ii) Name any two types of daiy caitle kept. (
¢) Outlin ni (3marks)
) Outline the characteristics pf Dutch Cattle farming.
(5marks)

d) Explain the problems faced by the Dutch dairy farmers.

wer questions that follow.

R

12.  Study Fig. VII Map of the Rhine River and ans

a) Name;
i) Water bodies marked  and 2
ii) Ports marked A, B, and C
iif) Rivers marked D and E

iv) Indusirial region marked 3 (Smarks)

© WAKISSHA Joint Mack Examinations 2012
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b)

i) Explain the f;

region named iy (a) (iv) above,

¢) What is the iMportance of

. i iv) above.
D) Identity two types of industries in the region named in (a) (iv)

(2marks)

industrial
actors that have favoured development of ind

(8marks)

. i - the development of .
il the industrial sector to the (4marks)
d) Outline the effects of industrialization on the physical environment:
in Germany? | Sl
REGION 111 - CHINA
Praw a sketch Map of China and on it mark and name;
1) Arcas with g Population density of}
- Less than 1¢ Persons per km?
- 10-100 Persons per kim?
- 100-200 Persons per km?
- Qver 200 persong per km?
i) Port City - Hong Kong
1) Water body - Yellow Sea
1V) Tibet Plateau
v) Takla Makhan desert (9 marks)
Explain the factors responsible for Population increase jg China. (6 marks)
State the effects resulting from population increase in China, (Smarks)
Suggest steps that should be taken to solve Population problems in China.
: (Smarks)

Study Table 3 showin

g types of eleciricity used in china in 2005 and answer
questions that follow.

Types of electricity used

4.0

Percentage
Coal 74.0 .
Natural gas 1.5 \
oil 35 |
Tﬂ_ydm power 17.0 W
Nuclear T

© WAKISSHA Joint Mock Examinations 2012
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a) Draw

a pie-chart to present the information in the table.

(10marks) .
b) Name the
(i) Least,
(ii) Most,
popular type of energy used in China. (2marks)
¢) Give the disadvantages of using;:
(l) Coal, (Smarks)
(i) Hydropower | (2marks)
as a source of energy for industrial development:
d) Outline the benefits of the energy sector to China’s ecohomy. (6marks)
(5. Study the sketch map of Yangtse River basin and answer the questions that foiiqw:
)11y Canals
& Towns
My Railways
2 Lands
TN :.:i:-':'—-.

Hangzou

Scanned by CamScanner
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a) Name:
(1) Water body: A and B
(i) Rivers: 1 and 2 '
(iii) Canal: E (07marks)
(iv) Towns: 3 and +

. i asin besides
b) (1) Name two crops grown i the Yangtse River Ba (02mar ks)

" Cotton and Rice.
(iii)  Explain the factors that have favoured the productiont . (04mar ks)
of cotton in the Yangtse River Basin. |

he Yangtse

¢) (i)  What problems do the cotton farmers of t (04marks)

‘ [ River Valley face.
| : s
(i)  How are the problems in (c) (i) above being solved? (04marks)

d) Explain the cffects of Cotton growing on the physical g .
environment in the Yangtse River basin. (04marks)

END
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HI*‘.('T’]‘IUN A
pART L RrEST or Al"lll(fz\

Ansver TWO questions {rom this part, - » -
| " .gljon:
Map of Africi prov and answer the ques

jded

I Study ligure 1,

e Towns/Ports

_—Rivers
. Inland Basins

a) Name:

i) Inland drainage basing marked A, and C.

i) Major towns marked 1,2 and 3
iii) Island marked N

iv) River marked P’

b) Deseribe how (he inland drainage basing were formed.
¢) Outline the usefilness of the inland drainage basing named in (a) (i) above

(o the people living in (he arca.

d) Expluin the problems facing (he people living in the inland drainage basing

named in (a) (i) above.

i WAKISSIIA Joint Mock Lxaminations 2010
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2. Study Figure I1, map of Sudan drawn below and answer the questions that
follow; \

N |
-
[
' |
|
I

/

Key
— Rivers |
A4~ Dams |
@ Towns 4 ~ ~
++e+ Railway ~ 1
Water bodies N
~——~Pglitical boundaries
&S Mutti-purpose Scheme

|

|

|

\
|
I

a) Name:
i) The schemes marked E and F

ii) Water bodies marked X and Y
iii) Towns marked | and 2

iv) Dams marked A and B

b) i) What is the main cash crop produced under the scheme marked F?

i) For the cash crop named in (b) (i) above, describe the conditions
which have favoured its successful production.

c) Outline the problems facing the production of the cash crop named in

(b) (i) above.
d) What are the steps being taken to solve the problems mentioned in (c)
above?
Turn Over
© WAKISSHA Joint Mock Examinations 2010 3
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pyuatorial furests

« entent of the

it showing th
'i 3 Study Vigure 1] Ma;:'n! Cihani _Illlrf.*c:‘l A
| and answer the questions that follov,

KEY

4

a) Name; i) Water bodies marked O and P -
ii) Darn marked J

. iii) Ports marked 1 and 2

‘ iv) Countics marked R and S

|

|

b) i) Name any three tree species exploited in the Equatorial forests of
Ghana,

‘ ii) Describe the characteristics of the Equatorial forests of Ghana,
¢) i) What problems face forest exploitation in Ghana?

| ii) How has the Ghanaian government tried 1o solve the problems
| mentioned in (C) (i) above,

d) Name any three products of the forestry industry in Ghana.

C WAEISSHA Joins Mrck Exominations 2010
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PARTII -STUDIES IN DEVELOPMENT
Answer two questions from this part.

REGION 1- NORTH AMERICA

7. Draw a sketch map showing the Great lakes and St. Lawrence seaway and on
it, mark and name:
(i) Rivers: St. Lawrence and Ottawa

(i)  Lakes: Superior and Ontario
(iii)  Canals: New York State barge and Sault ste marie

(iv)  Ports: Thunderbay and Hamilton.

b) Why was the St. Lawrence Seaway constructed?
¢) Explain the benefits of the St. Lawrence sea way to U.S.A and Canada?

d) Outline the problems still facing the people using the St. Lawrence Sea way.

s. Study table 11 below; showing the means of transport used in Manhattan New
York and answer the questions that follow. '
Means of transport % age
Sub way (Underground trains) 70
Train 9
Bus 6
Ferry 2
Others 13.1

Spurce: White R.G & Bourman. North America

a) Draw a pie chart to show the relative importance of each means of transport in
New York city.

b) i) Give three reasons favouring the most utilized means of transport in
Manhattan New York.

ii) Describe the problems faced by the transport sector in New York City.

¢) Explain the effects of the transport sector on the environment in NewYork.

Turn Over
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9.

Study figure V, Map of North Am

erica and answer the questions that follow.

2 e - = A
_S,.A— Rt v
'__—__ -
L i = S -4
e St | KEY
_.'a—:_-'!—_ 1 ‘—'———- f
a) Name

i} Fishing grounds: D and E
i1} Ocean currents A and B
iii} Rivers 1 and 2

iv) Bay marked C

b)
named ground in a (i) above

c) 1) Whatare the benefits of the fishing industry to the people of British

Columbia.

QOcean Currents

Rivers

Explain the physical conditions that have favoured.fishing in any one

i) Name any two modes of transporting fish in British Columbia.

@y

Scanned by CamScanner
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REGION IT- RHINELANDS

10, &) i) Whatis glaciation?

ii) Give two ways through which glaciers erode.

iii) Outline the factors which influence the down ward movements of
glaciers in Switzerland.

b) Name two
i) Glacial erosional features
ii) Glacial depositional features
found in Switzerland

¢) Explain the importance of glaciation to the economy of Switzerland.

d) Outline the problems associated with glaciation in Switzerland.

1.  Study table Il below showing Land use in the Netherlands and answer the

questions that follow.

Land use type Total Land area (Hectares)

Arable farming 770,000

Horticulture 140,000

Pasture 1,505,000 1
Wood and wasteland 525,000

Others 560,000

a) Draw a bar graph to represent the information given in the table above.

b) Explain why a large part of land is left under pasture.

¢) i) Name any two types of diary cattle reared in the pasture lands of Netherlands.

ii) Describe the conditions that have favoured diary farming in Netherlands.

d) Outline the problems affecting the diary farming Industry.

Turn Over
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12.  Study Fig 6: Map of German and answer the questions that follow

AUSTRIA

a) Name the;
i) Water bodies: 3 and 4
i1) Ports: 1 and 2
iii) Neighbouring countries A and B
iv) Region marked 5

v) Dominant mineral mined in the shaded region marked 5.

b) Explain the factors that have favoured the development of the mining
industry in the region named in a (iv) above.

¢) i) Identify any three uses of the mineral named in a (v) above.

ii) What factors have led to a decline in production of the mineral named
in a (v) above?

© WAKISSHA Joint Mock Examinations 2010 10
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REGION III - CHINA

S"'Ud.‘- tab; F ha e .
River S : " b\'t_ﬂw showing the climatic statistics of Kweilin station in
aver Sikiang basin and answer the questions that follow:

Stztion: Kweilin (River Sikiang Basin)

LR Fore I
Months  1J IF IM |A |M

R v 1 1 Ja |s lo [N |D
emp(C) 190 168 196 11231182 122.1|268|28.5]27.6]259 2231135
RF(mm) |41 |102 | 109 |239 | 358 |417 |203 | 178 |76 |66 |53 |4l

Adapted from Tregear, TR (1980) China: A geographical survey Pg 303.

) Draw a suitable graph to show the climate of the station above.

b) Calculate the
i) Annual range of temperature
11) Mean annual rainfall
ili) Mean annual temperature
for the station.

¢) Describe the economic activities taking place in an area where the station is found

d) Explain the problems faced by the people living in the surrounding area.

z) Draw a Sketch map of China and on it, mark and name;

i) Lowland areas below [500metres

ii) Plateau areas between 1500 and 4000metres

iii) Highland areas above 4000metres
iv) Water body: Yellow sea
v) Rivers: Sikiangi, Huang-he

b) Describe the process which led to formation of high land areas in China.

¢) Outline the problems faced by people in highland arcas of China.

d) Explein the influence of relief on drainage in China. -

Study tzble V below, showing Jron-ore production and consumption in China
between 1980-1994 and answer the questions that follow:

production znd Consumption in HO00 metric tones

Year | Iron ore Production Iron ore consumplion
T1580 | 65,072 120,394
1985 | %0,000 140,354
T19%0 164,300 193,471
T 1995 | 234,660 222,771

a) Draw aline graph to show annual Iron-ore production between 1980-94.

b) Describe;
i) trend of production

ii) relationship between production and consumption between 1980 and 1995

c) i)State any one area in China where [ron ore is mined.

ii) Explain factors which have favoured production of Iron ore in China

d) Outline the contribution of Iron ore to the development of China.

END
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SECTION A

W ON AIRICA
PART It iresT ol AFRIC

Ao 1 i part,
Answer TWO questions from this | in Afticit (1 OO 1=200:0) ol

v PTY N YTTer LY '(h'l”' ,I"
| Study Table 1 helows showing incidences ol b

answer the questions that fotlow,

¥ M)
Table 13 Afvica: ineidences of Drought (1991 = 200 )

Total yenrs of drought

Country o
Hotswinm :
)7
Sudan .
Zimbalwe ”1
Republic of South Alricn 0.
Alperia 04

| : : shington DC
Adapteds Afriea Development Indieators (2005), The Workd Bank, Washingto
1*235,
a) Dreaw a bae graph o represent the information given in the tble above (9 marky)
b) Identify the countey with the :
(1) Lowest
(i1) Highest

' ' . 'l il
meidences of droughi (2 marks)

¢) Deseribe the features which have Jed to the oceurance of drought in the country
mamed in b (i) nbove, (5 marks)

d) Outling the;

(1) Effeets of drought on human aetivities in Africa (5 marks)
(1) Measures being taken (o solve the problem ol drought in Africa. (4 marks)
2, i) Draw a sketeh map of Afvica and on it mark and name:

i) Prevailing winds: Hamattans and South st Trade
1) Latitudes; Eguator and Tropical of Cancer
i) Ocean currents; warm (¢ iminea and Mozambique

iv) Climatic regions: Savanni and Salhel (2 marks)

b) Describe the factory responsible for the ruingul patterns in the savanna region,

(4 marks)

¢) Explain the influence of climate on agricultuoral netivigjes in the savanna region

(6 marky)

d) What are (e elleets of clime on agricultury] activities in (he Savanng regrion?

(6 marks)
CWARLISS A Joint Mock Lxaminations 204 4
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3@ Study Fioure I Man of € . . :
" " e [ Map of Sahel region showing arcas occupicd by nomadic pastoralists
and answer the questions that follow:

Name the:

i)  Countries marked A.B and C (3 marks)
ii) Latitude marked 1 (1 mark)
iii) Water body marked 2 (1 mark)
iv) River marked 3 (1 mark)

(1 mark)

v) Ocean current marked D

b) i) Name any one group of people practicing nomadic pastoralism in the Sahel,
(1 mark)

i) Explain the importance of livestock farming to the people living in the Sahel.
(5 marks)

¢) i) Outline the problems faced by nomadic pastoralism in Africa. (6 marks)

d) Describe the measures being taken to improve the livestock industry in Africa.
(6 marks)

2o Turn Over
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N

ions that follow
4 Study Figure 2: Map of Southern Nigeria and answer the questio

{}O

® Enugu

a) Identify the following
i) Minerals mined at point O, Q and U
1) Ports /towns marked 2 and 3
iii) Countries marked M and N (7 marks)

b) Describe how the minerals mined at point marked U is mined. (5 marks)

¢) (i) Explain the factors that have favoured the extraction of minerals at point
marked in U in Nigeria (5 marks)

(1) Qutline the effects of mining the mineral at point U on the environment,

(4 marks)
d) What are the benefits of mining the minera] at point U to the people of Nigeria?
(4 marks)
O WAKISSHA Joint Mock Examinationy 204 | 4
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z Study figure 3: map showing the Kariba/Cabora Bbasa multi-purpose project and answer

the questions that follow:

(a) Name the:

i) River marked 1 (1 mark)
i) Ocean marked 2 (1 mark)
iii) Port marked 3 (1 mark)
iv) Towns marked 4 and 5 (02 mark)
v) Countries marked A and B ' (02 mark)

vi) Lake C and damE (02 mark)

(b) Describe the factors which led to the establishment of the Kariba river project.
(6 marks)

(c) Explain the effects of the establishment of the project in (b) above on the
environment. (6 marks)

(d) Outline the steps being taken to address the negative environment effects of the

project. (04 marks)

© WAKISSHA Joint Mock Examinations 2011 Tur IISOV =X
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0, Study table 11 below: showing, distribution ol transpor

guestions that follow.

Conntty Percentage aren in IKm
Nigerin - 208

Congo — Kinshasha 2.2

S, Adrica 39,2

Zambin 15.8

Ithiopia 18.7

Moroceo 3.1

{ routes and answer the

a) Draw a pie chart to show the proportion of the transport system in selected
countrics ol Alrica. (12 marks)

by Explain the factors influencing the distribution of transport systems in Africa.
(5 marks)
¢) What are the benefits of the transport sector to the people of Alrica?

(4 marks)

d) Explain the physical limitations affecting inland water transport in Alrica.
(4 marks)

3 W WASSHA Joimt Mock Examinations 20101 O

Scanned by CamScanner

N



PARTII - STUDIES IN DEVELOPMENT
Answer two questions from this part.

REGION I - NORTH AMERICA

7. Study fig 4: Sketch map of the Tennessee valley and answer the questions that follow;

Rivers

Dam

Towns

(L33

State boundaries

a)  Name the ;
() Rivers marked A and B
(if) Dam marked C
(iii) States marked 1 and 2

(iv) Towns marked 3 and 4 ; (7 marks)
b)  What caused severe soil erosion in the Tennessee valley region? (6 marks)
¢) Describe the steps that were taken to control soi] erosion in the Tennessee valley
region, (6 marks)
d)  Explain the influence of the Tennessee Valley Authority to the growth of industries
in the Tennessee region. (6 marks)
8. Study table 111 below; showing average cereal production per hectare in Canada and
answer the questions that follow.
Year Average yield kgs/ha
1986 - 88 2,238
1988 - 90 2,200
1990 - 92 . 2,531
1992 - 94 2,566
1994 - 96 2,702
World Resource serjes {19‘)0-94)
Turn Over
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: - (7 marks)
a) Draw a line graph to represent the information in the table.

: d 1996.
b) i) calculate the percentage change in cereal production between 1990 an

(2 marks)
: k
ii) Describe the trend in cereal production between 1986 -1996. (2 marks)
¢) Explain the conditions responsible for the trend in (b) (ii) above. (8 marks)
d) i) Name any two cereals grown in Canada. (.2 marII:S)
i) What problems face cereal growers in Canada? (4 marks)
9. Study figure 5, Map showing the Southern California and answer the questions that

follow.

N
" 5 _ Agricultural area
£ " Ports/Towns
A ’\/ River
a) Name the;
i) Region marked Z
i) Rivers marked Y and X
iii) Ports / towns marked 2 and 3
iv) Oceans current marked 1 (6 marks)

b) Describe the factors responsible for the semi —arid conditions in the Southern
California. (4 marks)
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¢) 1) Explain the conditions which favoured the practice of irrigation farming in the
(5 marks)

region marked Z.
it} OQutline the etlects of irrigation farmir —
California. " (8 marks)
d) Name two crops grown in the region marked Z. (2 marks)

1g to the environment in Soutl

REGION II - THE RHINELANDS

10.  a) Draw asketch map of Switzerland and on it mark and name the;

i) Physical regions: Alps, Jura and Swiss Plateau

i) Rivers: Rhone, Aar, Ticino and Rhine

iii) Tourist Resort: St. Moritz, Interlaken and Lausanne (7 marks).
b) State any two tourist attractions in the;
i) Swiss plateau (2 marks)
i) Swiss Alps (2 marks)
(2 marks)

ii1) Jura

ons which have favoured the development of the tourist

¢) Describe the conditi
(6 marks)

industry in Switzerland

d) Why is the tourism industry less developed in East Africa than in Switzerland?

(6 marks)
11. a) Draw asketch map of Belgium and on it mark and name;
() Industrial centre of Antwerp, Tournoi and Brussels.
(i) Coal fields of Charbroi and Leige
(8 marks)

(iii) Albert Canal and River Scheldt.

dustry in

a) Describe the conditions that led to the development of iron and steel in
(7 marks)

Belgium.

and Steel industry in Belgium. (5 marks)

b) Outline the problems facing the Iron

c) State the steps being taken 1€ improve on the industrial sector in Belgium.
- (5 marks)
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[ 1

Study Figure 0: A Sketeh Ma
X

Towns
Canals
Rivers P
1§
Extent of the Ruhr coal
field
a) Name the;
i) Towns:1,2
ii) Rivers:A, B
iii) Canals : X and Y : (6 marks)
b) Explain the factors that favoured mining in Germany. (5 marks).
¢) State the reason for the decline of coal mining in the Ruhr Coal field.
(5 marks)
d) Qutline the;
ii) benefits of mining to Germany. (5 marks)
iii) the effects of mining on the environment of Germany. (4 marks)
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REGION III - CHINA

13 a) (i - .
( )((i}i% vhihat 1S an agricultural commune? e sl )
€ntion any two crops grown on agricultural communes in China (2 marks)

b) Describe the conditions that favoured the establishment of agricultural communes

in China. (6 marks)
¢) Explain the contribution of agricultural communes to the development of China.
(8 marks)
d) Outline the disadvantages of agricultural communes in China. (5 marks)
14.  a)(i) What is meant by the term Entrepot? (2 marks)

(i) Describe the factors which favoured the development of Hong Kong Port.
(8 marks)

b. What is the importance of Hong Kong Port to the development of China?

(5 marks)
c. Explain the problem faced by Hong Kong Port. (5 marks)
d. Outline the steps undertaken to improve Hong Kong Port. (5 marks)
15 a) Drawa sketch map of Sikiang river basin and on it mark and name;

i) Towns: Hong Kong and Canton

ii) Hainan Island

iii) South China sca

iv) River tributaries: Peliking and Tung — Kiang (7 marks)
b) Describe the factors that have favoured the development of the Sikiang River

basin in China. _ (8 marks)
¢) Explain the contributions of Sikiang river basin to the development of China.

(5 marks)

d) What problems face people living along the Sikiang river basin? (5 marks)

END
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